
21orjinautomotive.com

      AUDI
A4 (8D2-B5) (01/1995-11/2000)

A4 AVANT (8D5-B5) (07/1995-09/2001)
A4 QUATTRO (B5) (01/1995-11/2000)

1 00034

8 03438 15 00057

4 01488

18 02311

7 03437

7 03437

14 00056

2 00035

9 03608

16 00052

5 00044 5 00044

19 02312

3 01489

10 0360910 03609

17 00053

6 01779 6 01779

13 00058 13 00058



22

      AUDI
A4 (8D2-B5) (01/1995-11/2000)

A4 AVANT (8D5-B5) (07/1995-09/2001)
A4 QUATTRO (B5) (01/1995-11/2000)

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 AU003-C/L 00034
Stabilizer 

link-L
8D0411317D 8E0411317 90 mm

2
AU003-

C/R
00035

Stabilizer 

link-R
8D0411318D 8E0411318 90 mm

3 - 01489
Stabilizer 

link-L
8A0505465C -

Rear-

M10x1,5-228 

mm 

4 - 01488
Stabilizer 

link-R
8A0505466C -

Rear-

M10x1,5-228 

mm 

5 AU017 00044 Tie rod end 4B0419811B 8E0419811B 

M8x1,25-Male-

M14x1,5-155 

mm

6 - 01779 Axial joint 8E0422821 -

M14x1,5-

M16x1,5-128,5 

mm

7 - 03437 Bushing 4B0407515 4D0407515C -

8 - 03438 Bushing 4D0407183S 4D0407183M -

9 - 03608 Bushing 4D0407182E 8E0407182A -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

10 - 03609 Bushing 4D0407181F 4D0407181H -

11 AU100 00076
Suspension 

set
8D0498998 8D0498998B -

12 AU200 00077
Suspension 

set
4F0498998 - -

13 AU027 00058
Track Control 

arm
4D0407151A 8D0407151E  M12x1.5-269,5

14 AU026-L 00056
Track Control 

arm-L
4D0407693H 8E0407693Q  M12x1.5-382.5

15 AU026-R 00057
Track Control 

arm-R
4D0407694AC 8E0407694Q  M12x1.5-382.5

16
AU024-L 

(AU025-L)
00052

Track Control 

arm-L
8D0407505B 8E0407505P  Ø16-273 mm

17
AU024-R 

(AU025-R)
00053

Track Control 

arm-R
8D0407506D 8E0407506P  Ø16-273 mm

18 AU022-L 02311
Track Control 

arm-L
4D0407509B 8E0407509C Ø16-249 mm

19 AU022-R 02312
Track Control 

arm-R
4D0407510K 8E0407510C Ø16-249 mm

11 00076 12 00077


